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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed: 1x7=7
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(@) ‘Assessment Year’ means the period
starting from 1st April ending on of
the next year. (Fill in the blank)
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(b)

()

@)

(e)

The year in which income is earned is
known as Assessment Year and the
year in which it is taxable is known as
Previous Year. (State whether the

statement is True or False)
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Under the Income Tax Act, 1961, what
is the status of Dibrugarh University
as a ‘Person’?
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Tax liability of an assessee depends
upon his/her residential status.
(State whether the statement
is true or false)
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Agricultural income is taxable under
section 10(1) of the Income Tax Act,
1961. (State whether the statement

is true or false)
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Other information :

Tefjieny 9L ¢

(1)

(1)

(iii)

(1v)

(v)

The amount of depreciation allowable is
Rs. 57,000 as per Income Tax Rules
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Advertisement expenditure includes
Rs. 3,000 being the cost of permanent sign
board fixed on the office premises
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Income of Rs. 3,08,700, accrued during the
previous year, is not recorded in the Profit
and Loss Account

9% 29 (5 TS w7 3,08,700 5 FIS- (ARSI
fRpiie wEye (@€ Al

Sudesh Bhosale pays Rs. 15,000 as

premium on own life insurance policy of
Rs. 70,000
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General expenses include Rs. 12,000 given
to Mrs. Sudesh Bhosale for purchasing a
gift for a marriage party of a friend’s
daughter
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(vi)

(d)

(e)

(f)
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Loan was taken frony Mrs. Sudesh Bhosale
for payment of arregrs of income tax

SIS 0 (SFET 7131 219l TR (R IR SIS
s fwE [

Briefly explain the bgsic rules governing the
deductions under section 80C to 80U of the
Income Tax Act, 1961. 10
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Explain the process of setting off of losses
and their carry forward as per the provisions
of the Income Tax Act, 1961. 10
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Write short notes on the following:

5+5=10
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(i)  On-line filing of returns of income
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(i) Tax deducted at source
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